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Circle the letter corresponding to
the correct answer.

aaall Aglayl Ja dss D @

Question 1

1 Jiaal)

What Is the value of the digit 2 In
153,827?

0153, 827 sl b 2 pi dad o

A 2
DIIEN 7.4
c 200
D 2,000
Question 2 2 Al
rite the number 532,179 532,179 sall S
cAzaa gal) By gual) L_r'

expanded form.

\ 500,000 + 30,000 + 2,000 + 100 + 90 + 7

F 500,000 + 20,000 + 3,000+ 100 + 70 +9

500,000 + 30,000 + 1,000 + 200+ 90 + 7

) | |500,000+ 30,000+ 2,000+ 100 +70+9 /
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Question I 3

Round the number 473, 809 to the

g )

LS
il A 473,809 axy 3

nearest thousand.
474 000 / S

LB ] I 473,900

LC f ]473,300

[ D [/473_000

L Question I 4 4

/ Estimate the sum.

/ 15,410 + 11,280 = 24

et

r
] } 26,800

Cc
D / l26, 900

Question I 5 5

gl

that is the sum?

fesanall L

2,791 + 452 =

/ 22,143

/ /2,243

j /3,143

I /3,243 V

._‘r;—‘ __E"f:f\-r e
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r Question ’ 6

6

What Is the sum?

+

7,306
1,241

R

TR .4

B }8.545

c (6. 147

D 16,145

Question ] 7

|

1d the difference.

|

A dayl

3,652—-1,401=227

T

=

I 2,251

|
[

EIR:E
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Question [ 8 B dgat )
Find the difference. A 5
46,573
L5312
yh e
:_—duutlun 9 0]
Find the diﬂfem!-.ce_ > 'JMM {
e —— :
3,507
= 5.241
0/ L6 §
\ / ,11, 748
! 15,346
é! /5,266 f
l 15,166




(e | Mathemarics. Reveal | Reveal - atoatyht [ 20133012 l

Question | 10 10 g \
The cafetoria distributed g40 L lall e e 840 Ly cejy
cartons of milk at breakfast and SN e cudall oa At 1,520 5 syl
1,520 cartons of milk at lunch. o el o ke 6,038 Lyl e s
The cafeteria had 6,030 cartons ol A
of mllk;_t the end of the day, o Ll (53] CilS A Gulal) e s S
How many cartons of milk did the Tossd &y
cafeteria have at the beginning of Tf‘, \f(} 9 / } 90
the day? Py 2 - -
L q 3 E
@ |8,398 e |
B |5,346 \
C |5,266 J
D |3,678 \
Question 11 n | S
What equation can be used to dlay JA4) \gatasiud (Sa A Alilaal) L
represent the multiplicative 7 uilual 4 (geld 28 wapall A3

comparison statement 28 is 4 times

as much as 77

A [28=4+7
‘ 28=4Xx7 /
C [7=28+4
D |7=28x4
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| Question | 12 eyl il (o Aakea 13 Cla oy
Eman read 13 pages of a book last i)
ek, . QMMZQEMIH;V;
She read 2 times as many pages '{Jl gl Eh"-"“ \@la

this week as she did last week.

How many pages did she read this
week?

e = 10232022
Teveal - st | TFER

r&’*ﬂlml‘;quahu'.ug

[®

-

E
c ‘st v

|
= T 7T

13 BT

Question 13
A rectangular garden is 3 times as
long as it is wide.,

’
"he length of the garden is 12 feet.
low wide is the garden?

Apag Giledal 3 lglgh Albions s
812 Al J4h 3y
falnll (ag L

I

| f1z-3=

]/12-!—3:-'15

j I:zx3=_3ﬁ
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r Question T 14

Jijealt

14

What are all the factor pairs for the
number 327

732 asll Jalgell £yl gaas La

1_;32.2_]15,44!]

|

1and 32, 2 ang 15, 4 and 8

]1,,32,2_.15,4,,11

and 32, 2 and 16,4 and g

Vv

1432, 2 416, 4437

©

1 and 32, 2 and 16, 4 and 7

[1432,2 418 4,9

o]

[ 1 and 32, 2 and 18, 4 and 9

f Question ) 15 15 St
Which of these numbers is prime? T A s eT o3 (a4
IIE :
o1/ i
o™ 20
o / 131 /
/ Question ] 16 | 16 Jliad
Which number is a multiple of 7?7 ¢7 Jislae g 32 (4]
-
¥ |2
c | |48
b | |54 )
= = — =% 2

L&:ig&ﬁ_m—f o 5%

8
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Question 19 19 ‘JM
A package of pencils contains e gyl gl (a Aaja (5in
20 penclis. ek ald 20
How many pencils are in 40 Tiajs 40 A Fagasall yala)) ST T
packages?
,VA 8,000
I
"B 6,000
@ 800
D 60
Question 20 20 L
Vhich of the following can be skl Al (gl oS (1 00
sund by using the partial il qupall gl
roducts?
% = (60 x 50)+ (60 x 3)+ (4 x 50)+ (4 X 3)
)| 65 x 43
b | |65 x 54 -
64 x 43
| 64 x 53 ¢

LY ALY sl

10

ERE
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L’M"“h statement Is true? Ty
A | [1,670> 11,670 [ _
H [ 1,670 > 1,760 .
1 670 < 1,760 J—_—”: .
“j 1,670 < 1,076 o
eeees BONUS *#++** |

HI  Question I 22 22 Jijadt

Ahmed and his family are driving
1,275 miles across the country
over three days.

The first day, they drove 417 miles.
The second day, they drove 435
miles.

How many miles do they have left to
frive?

Ton 1,275 Adlas Bl 43bfley saaf 53,
Sl L e e S eladl aaa
Shaa 417 1928 ¢ 51t 3

s 435 108 1 Iy 3
TaEY (B Saa g

A ”423 ¢

B / /940

, /858

]

iz

11
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I 1,670>1,760 __—— =
f [ 1,670 < 1,760 - —
[@Hlemf.iom D —
eeses BONUS =****
' l ~  Question I 22 22 b

Ahmed and his family are driving

1, 275 miles across the country
over three days.
The first day, they drove 417 miles.
The second day, they drove 435
niles.

ow many miles do they have left to

ive?

a1, 275 Al Bt ililey saaf ag3y
o A Jae o DL eladl pan A
S 417 1998 ¢ Jg¥) asal b

Sae 435 18 ¢ AU pgll
£53LEl () Slaa p$

Wi ¥

Py

11
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What equation can yoy writg to Julall galis diay AN Alitead b
represent and solve the comparison? i Aal) Sy
5 more than 3 3 e 85
A , l3 xX5=18% b
f B ’ 3+8=11
) ] ’ 3+5=8 ' !
D | [3x8=24
F LA LT BONUS LTTIL]
Question 24 24 Jigadl

ﬁ'.fhat are the first five terms of the

pattemn?
Starting with 30, subtract 4.

haill 481 decadll 3giall La
4 bl 30 G ley

@I ]30,26, 24,20.16

B 1,30,26,22.18.14 /

CJ J 30,28,22,16,12

D I l 30,24,18,12,6

12
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Q 1 (TR L] BOTUS - zl _—-‘-"“'!-...
Which Etatement Is true? Hvnal dinny -
! ——
1,670 > 11,670 —
l I 1,670 < 1,760
—— |
@”16?0-:10?5 o]
= sasas BONUS sasse ——
" Question ’ 22 | 22 et

Ahmed and hls family are driving

1,275 miles across the country
over three days.

The first day, they drove 417 miles.

The second day, they drove 435
miles.

How many miles do they have left to
Irive?

—_—

Sia 1,275 lica Blacd) 43y 2aal 43,
U A o o S eladl s 4
e 417 193 ¢ Jo¥ ppl o

Sha 435 |98 ¢ Y padl b
TBaLAN 2, S o5

NICK 4

5 | Jos0

] Jass

2,[ 12,127

11
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Question ] 1_7—-’; 2 ==
Find the product. =i BN g

@[«

LB ”412
Lc ”422
LD ”432 :

il .yl ol
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